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C?\{0}00D000000z~y < z=Xy00 ) XeC\{0}O0ODOODOOOO,
PYC)=(C?\{0})/~O000.000,p:C?2\{0} — PH(C)O0ODODOODOOOO
O,p000 P(C)0O0DO0DOO0OO0. 00,000 2= (x,2,)€C?2\{0}000
O, p(z)=[z] =[ry:x] € P(C)DDDODOO. OO, f: C*\ {0} — C*\ {0} O
oooooooo.

f(z) = Qwozy, 23 + 27), = (v9,21) € C*\ {0}.

(1) fO00 fop=pofO00O0D0D00 f: PYC)—PYC)0O00O0O0O0O0D0O0O0.
(2) 000 [y) =[w:] € P(C)OODODO, fY(y]) c P(C)DDODO,00,000

(0O00: (2) ®¥=¢200000000 (00000 [y:y] 0000000000
000)0o0o00o0o00)

KODO,VvOD KOODODOOOODOOOODOO,wcvovooooooooood
0.000,Vv,W*00000V,wooooooo,wtcvooooooono
0OV*000000000000.

t={feV'|0000weWwWOOOO f(w) =0}

(1) ¢ : V*— W*D feV*0000, fO0WOO000 f|0000000O000
D00.0000,0000000@ : VY /WLs[f]=f+WLeo(f) = flw e W*
0ooooooooooo.

(2) $000000000000000.

Ly = {(z,y,2) e R3 | y = 2 =0}, Ly = {(z,y,2) e R® | x = 2z = 0}, L3 =
{(z,9,2) €R® |z =y =0} CR*00, D=R3\’_,L;000. 000, DOOD
Oooddo XxXxogooo.

X—( —3y 22 3 —4z —2r 4y )

3:2+y2+x2+22’x2+y2+y2+z2’x2+22+y2+z2 '
(1) rotX =0000.
(2) C1,C,,C300000000 Iy,ly,13: 0,6l —DOODOODOODOOOOO.

((t—1,-1,-1), te][0,2], (-1,t —1,-1), te]0,2],
Lt)=< (1,t=3,-1), te[2,4], bLlt)=<(-1,1,t-3), tel2,4],
(1,1, - 5), t € [4,6], (t—5,1,1), t € [4,6],
((-1,-1,t—1), te]0,2],
3(t) =14 (t—3,-1,1), te[2,4],
(1,t—5,1), t € [4,6].
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DDDD,DDD/ X.dl; (j=1,2,3)00000.000,0¢;000,t000
C,

00000000000000.



